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LETAzai 12055

OEMA B
B1. o) def max_poso( self, poliseis ):

max = -1

foriinrange(4):

if self.poliseis[ i ] > max:
max = self.poliseis[ i ]
return max
B) politisl = Politis( ....... )

( ‘lwavva Kwvotavtivou’, [10000, 15000, 5000, 20000] )

vY) print politisl.max_poso()

B2. (1) ““
(2) lexi
(3) arxika
(4) o
(5) arxika
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B3. 1. N1POTYNO
2. MPOTYNO ENAA
3. TYNO ENA
4. ENAA

5.ME

OEMAT
#r3 def YPOLOGISMOS( pl_math):

return pl_math*4

sin_esoda=0

sin_math =0

pepal_math=0

#r1 foriinrange(5):

for jinrange(4):

onoma = raw_input( ‘AQZE ONOMA’ )

o (ppovuotnpia - ’ ,
~ | noukapiods 2eMoa 4 and 7

O MEFAAYTEPOL @PONTILTHPIAKOL OMIAOL ITHN EAAAAA




NMANEAA

IKE2
EFETAZEIX 2025

E
2
typos = raw_input( ‘AQZE TYNO')

pl_math = int ( input ( ‘AQZE NAHOOZY’))
while pl_math < 20 or pl_math > 50:

pl_math = int ( input ( ‘AQZE NAHEOZY’ ) )

#r2 cost = YPOLOGISMOS( pl_math)
#M4 a) sin_esoda += cost
#ra B) sin_math += pl_math

if typos == ‘NENAN’

pepal_math += pl_math

pos_pepal = ( pepal_math / sin_math ) * 100.0

print ‘ZYNOAIKA EZOAA’, sin_esoda

print ‘NOZ0ZTO NENAN’, pos_pepal
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#Al ANS - [lal’ ldl’ lbl’ lbl’ lal’ lcl’ ldl’ lal’ lbl’ lc’]

KOD =[]

SB=[]
foriinrange(300):

#A1 a) kodikos = raw_input( ‘AQZE KQAIKO’ )

KOD.append( kodikos )
bath=0
#A1 B) forjinrange(10):

apan = raw_input( ‘AQZE ANANTHZH’ )

if apan == ANS[i ]:

bath +=5

SB.append( bath )
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if SB[ i]> 30:

print KOD[ i ]

#A3 a) for i in range( 299 ):

for jinrange( 299,i,-1):

ifSB[j]>SB[j—1]:

SB[jl,sB[j—1]=SB[j—-1],SB[]]

KOD[j1, KOD[j—1]=KOD[j-1], KOD[j]

#A3 B) d =open(‘lang.txt, ‘W’)

foriinrange(300):

d.write( KOD[i]+"” “+str(SB[i])+ ‘\n’

d.close()
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